ETSHE—HF (BT +=%5ENIERR)
EANENEEEEETES
(BH) FEr29F48H1H () FErk30FE3H31H
(841 : A)
BENE LEERE(A) B RE(B) ER(A)-(B)
NEARRB RN 0 0 0
F NGB BRI 0 0 0
BB RINS 0 0 0
REBRING 305, 839, 765 267, 808, 445 38,031,320
| P EE R 0 0 0
FEERIY - AS BN 0 0 0
| T|EE RSN 0 0 0
|| [EEEREs 0 0 0
p| B e 168, 007 242, 349 -74,342
ZOMOIRZS 0 0 0
A [p-tzEsmpasst (1) 306, 007, 772 268, 050, 794 37, 956, 978
=ININE 226, 959, 794 204, 263, 676 22,696,118
8| |=zsm 29, 387, 386 28, 504, 669 882, 717
CIES: = 16, 570, 786 15, 537, 897 1,032,889
W |PeiEszEm 0 0 0
o .. | EEBZER 0 0 0
| B\ ImEaasmEs 0 0 0
= P |m e A E 7,291, 504 7,317,976 -26, 472
EEHES SR S BN -2, 420, 259 -2, 781,225 360, 966
BURAAERE 0 0 0
BURTEES HDIRA 0 0 0
ZOMDER 0 0 0
H-PXEBEM (2) 277, 789, 211 252, 842, 993 24, 946, 218
YEXEBMERESE (3) = (1) — (2) 28,218, 561 15, 207, 801 13,010, 760
EASH SRV 0 0 0
SZHF SES S N 22,253 50, 053 -27, 800
=i i 0 0 0
BIMEES 5502 0 0 0
T\ IR s e s 5 S 0 0 0
|| %% |samiasrsssings 0 0 0
B |EARAET 0 0
z| |ErEETms 0 0
= [zofhoy—tEESRE 3,079, 691 2,948, 650 131, 041
#| | —CXEBIMRSEL (4) 3,101, 944 2,998, 703 103, 241
o] LR 0 0 0
| [AAESEHEA 0 0 0
Bl | 0 0 0
| g | 1B AMEE 35 STATIE 0 0 0
| | BB 7R 0 0 0
ap| " | EARAEE SIS 0 0
VA= (it ] 0 0
ZOMhOY L EENSME R 2,876, 541 2, 740, 280 136, 261
Y- P EENERSt (5) 2,876, 541 2. 740, 280 136, 261
H-CARBINEREE (6) = (4) — (5) 225, 403 258, 423 33, 020
EEEREE (7) = (3) + (6) 28, 443, 964 15, 466, 224 12,977, 740
R e 0 3,000, 000 =3, 000, 000
e g e AN 0 0 0
EREEESBASTOEESHSINGS 0 0 0
R Erarsms 0 0 0
| BT aEE 0 0 0
j| |PEARSRIRA RN 0 0 0
il ZOBDIERIINZS 0 0 0
1ERIINZEST (8) 0 3, 000, 000 3, 000, 000
B |gxemEaE 0 0 0
w| |EEsmma 0 0 0
0| |ExaEsiE-uss 0 37, 454 -37, 454
on| | EERBESISRIETI LI (RE0%) 0 0 0
| EVERREN & AR 2R 8 0 3, 000, 000 -3, 000, 000
pE=reLS 0 0 0
Y—EPAXRHEASER 0 0 0
ZOMBOIERIELK 0 0 0
1ERIEAsT (9) 0 3,037, 454 3,037, 454
TERIEEESE (10) = (8) — (9) 0 37, 454 37, 454
LHSEENERESE (11) = (7) + (10) 28, 443, 964 15, 428, 770 13,015, 194
= enneasEEEEEE (12) 51, 950, 672 50, 021, 902 1,928, 770
= [ EME BN~ (13) = (11) + (12) 80, 394, 636 65, 450, 672 14,943, 964
w [EASHEEE (14) 0 0 0
2 |ZOMOIETTSEIERZE (1 5) 0 0 0
= 20 fthOTET SEIEE (16) 25, 000, 000 13, 500, 000 11, 500, 000
w [RERIEHCEENMERALRE (17) = (13) + (14) + (15) — (16) 55, 394, 636 51, 950, 672 3,443,964
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